1390 SUPER DUKE R, orange 2024 <2024><EU><F9903X9>

LIGHTING SYSTEM
68853

Pos Part Number Description Additional Text Quantity
1 AB2414001000 Headlight 1.00
2 AB2414020000 Ball-head holder 1.00
3 61412132010 Collar bushing 5.5x7x13x3.3 2.00
4 A62414020011 Failure protection ball head 1.00
5 0081050161 EJOT PT SCREW K50X16 1451 2.00
6 0081040121 EJOT Delta PT K40x12 4.00
7 0900000505001 Ball-head screw L=50 1.00
8 69008021160 special screw M5x12 3.00
9 A62414011001 Headlight carrier top 1.00
10 61614019100 Screwshaft 1.00
11 A62414011002 Top headlight carrier 1.00
12 0330000416000 Edge clip cable tie 2.00
13 A62414010133C1 Bottom headlight carrier cmpl. 1.00




14 61614013150 Rubber grommet 2.00
15 009221001600 Special screw M10x1.5 2.00
16 0738020601200 Oval head screw ISR M6x12-A2-0 2.00
17 A62414032002 Turn signal bracket front 1.00
18 A62414035000 Turn signal bracket rear 1.00
19 69008021260 Special screw, M5x14 2.00
20 61711094100 Cable strap w.plug-in foot for 2.00
21 T03014025000 Turn signal ECE front left/rea 1.00
22 T03014026000 Turn signal ECE front right 1.00
23 T03014050000 Combined turn signal ECE 1.00
24 T03014051000 Combined turn signal rear righ 1.00
25 0145830501800 Flat-head screw ISO 14583-M5x1 4.00
26 60314147000 License plate lighting 1.00
27 58412080400 Rear reflector red 1.00
28 60408061050 RUBBER 14X6.5X2.3MM 2.00
29 0081050121 EJOT PT screw K50x12 only for US and SixDays 2.00




